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module keypad scan (clk, rst, key col, key row, key data);
input clk, rst; //clk = 10kHz
input [3:0] key row;
output [2:0] key col;
output [11:0] key data;

reg [11:0] key data;
reg [2:0] state;
wire key stop;

//=25-0 : FsM AEHE parameterZ &
parameter no_scan = 3'b000;

parameter columnl 3'b001;
parameter column2 3'b010;
parameter column3 = 3'b100;

assign key stop=key row[0] | key row[l] | key row[2] | key row[3];

assign key col = state;
IE 16.24
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16.5.1 keypad 2243 2 .

//E5-@: J8 16.302 FsM 3
always Q(posedge clk or posedge rst) begin
if (rst) state <= no_scan;
else begin
if ('key_stop) begin
case (state)

no_scan : state
columnl : state
column2 : state
column3 : state

default: state

endcase
end
end
end

IE 16.24
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//25-0®: 2 16.1601 28 key data &
always @ (posedge clk) begin
case (state)
case (key_row)
4'b0001 : key data <= 12'b0000_0000_0001; //key 1
4'b0010 : key data 12'p0000_0000_1000; //key 4
4'b0100 : key data 12'b0000_0100_0000; //key 7
4'b1000 : key data 12'b0010_0000_0000; //key *
default: key data <= 12'b0000_0000_0000;
endcase
case (key_row)
//key_2, key 5, key 8, key 00 S ESt= key data 4455 3E
endcase

case (key_row)
//key 3, key 6, key 9, key #0l GiE5t= key data 44
endcase
key _data <= 12'b0000_0000_00
endcase
end

endmodule IC 16.24
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